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CHEMISTRY (Theory)
|9Y © 3 °ve | | goTi& - 70

Time : 3 hours | | Max. Marks : 70
e : ) 39 wed oo # @t 30 wed &1 o veE afaard §)

(i) &1 H&AT | § 8§ TP TAh WIH | 3F BT L | UL 6T 9 | 18 Ab Ucldd U 2
SIepT BT B, UIH HE&AT 19 F 27 O YedP WIF 3 Sid] B & qUT YN Hewm 28 | 30
a® Uh® U 5 3] Bl & |

iy WET AT 1 ¥ 4 TF qgReedm uE # 1 5H U9 U 9 SR A 9R Ree R
T #1 w9 s ol SR i ¥ fafa |

(iv) I 93 ¥ " ue o3 ey T8 ] qenf 2 aiei arel a7 uw A, 3 @i arel O
goi & 3R 5 sl grel Wil gl # ke ey wera f5ar T 21 0 g oA
Fad Uh fAHed BT & FeR o |

(v) e raeaes @ ar AT Wl BT GART R WEHA § | hefdgelex B IGART Bt Al
T2 o |

Note : (1) Thereare inall 30 questions in this question paper. All questions are compulsory.

(i) Question No. 1 to 8 carry onc mark cach. Question No. 9 to 18 carry two marks cach. Question
No. 19 to 27 carry threc marks each and Question No. 28 to 30 carry five marks each.

(ify Question No. 1 to 4 are multiple choice questions. Here four options are given in each question.

Write the correct oprion in vour answer book.

(iv) There is no overall choice in question paper. however, an internal choice has been provided intwo
questions ot'2 marks, three questions of 3 marks and all questions of S marks cach. You have to
auempt only one of the given choices in such questions.

(v) Uselogiables, it necessary. Use of calculator is not penmitted.
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o o ugred SERE @ Afbgar @ 991 2§, T FEem § - 1
The substances that enhance the activity of a catalyst, are called —
G faw () sfdrey®s (i) B (iv) STaIED
Poisons Adsorbent Promoters Absorbent
2. K [Fe(CN),] ® STRIRA @) Sifawiiavvl srawel & — ]
The oxidation state of iron in K [Fe(CN), ] is -
@ - (i) =2 (ii)) +3 (iv) 0
3. = § § a9 qatfae srilg & - |
Which of the following is most acidic —
(i) were (i) m-serdTA (iii) WEIA (iv) o-FBRIHHTA
Ethanol m-Cresol Phenol o-Nitrophenol
4. amifare s Agge Gaus o o8 € - 1
Ammoniacal silver pitrate solution is called -
() <o afrede (i) @i sffeds i) R% seas  (v) e siieds
Tollen’s reagent Fehling reagent Schiff’s reagent Grignard reagent
5. SIEYSIaT ¥ Y T HAAS § 7 i
What do vou mean by Diazotisation ?
6. wepdi fopg faeifs & & | S~ gar € 7 ]
Deficiency of which vitamin causes Scurvy ?
7. wefF X GiftrRis B9 ST O € ? B9d IAHS Jheeer w1 | 1
How polythene is prepared from cthene ? Give chemical equation only.
g il @ gk § 7 U Sareer A I
What are antiseptics ? Give an example.
9. fy=faRaa ual @1 aRwida Fifoe — [+1 =2
Define the following terms —
(@) gifcH < () BHd W
Schottky defect Frenkel defect
430 (IBA) [ 2]
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10, T gl SRS O@E PO Q H g 21 69 B Bl U Q YRAY[ T4 3= B W P URA[Y
R 81 39 I1fe &1 GF R0 2 2 P Al Q B IUFREFAIST @RAT 7T & 2 2
A cubic solid 3s made of two elements I and Q. Atoms ol Q are at the carners of the cube and P at the
body-center. What is the formula of the compound ? What are the co-ordination numbers of Pand Q.

3AdT (OR)

3TET Tehah DIESEHT T by (ha diftgar #§ fnrg Wifom |
Dilterentiate between primitive unit cell and centred unit eell.

1. BIRCH G191 B 40 (SHR 40) BT ST H TS 200 ml, ez = man mar | [Daaq A
AEITAT ol BT | 2
4 ¢ ofcaestic soda gmofar mass - 4 is dissolved in water and the solution is made 10 200 mL. Caleulae
the molanty of the solution.

12, fpaferfan Wil & &0 e ke falee - -1 2
Write the cell reaction for the following eells -
@) Fe Fel THSO HLPY
&3 PO HCT Cl(P

13, ETaS g vfdedtas # srar ww it 2
Clarifv the difference between Lanthanoid and Actinoid,

14 [NICLY syra®m & waf (NiCo),| sfagada & gafd G-l agepers ¥ @at 72
[NICL] is paramagnctic while PNICO), ] is diamagnetic though both are tetrahedral. Why ?

3441 (OR)
frerfarfiad A & gl &1 va Ydigm) Tfao - =1 2
Give an example of cach of the tollowing -
(@) A Toaed (@) uepTIE IrmawerT
Giecometrical isomerism Optical isemerism

15, ARG &1 geid 99 g8 il didell A ol MUSR fRar v 8 7 anasad rEriag
T Algd WISTEY 2
Why chloroform is siored in completelv filled durk coloured bottles ? Fxplan with suitable chemical equatton.

16, e afafast o varafie siee wfeg fafan - J=1 =2
Wrile the following reactions with chemical equation -
() WRSF Wi i (@) g aifafan

Friedel Crafts reaction Wurts reaction
430¢IBA) | 3] [ILT.0.
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HHHYT T Td AfaRe dAhawr a@ v 8 & ? ' Sife 5 9wav g ofm afe
R G 8 7 3
What are transition elements and mner transition clements ? Clarify that why transition clements form coloured

compounds.

31 g @ ot werfdes, fdys, gies temmme — DASTAE
What happens when primary. secondary and tertiary alcohols are -
(@) e TRRITY WY ReaaT & TG | sredigd 5 oma &
Oxidised using acidificd potassium permanganate solution.
@) 573K ® 1 BR 9w yafea fEy o &)

Passcd over heated copper at 573 K.

s, fdias v qeftaw VAT A vgae B AR B 9ot AR @ s @
e wiimRe A faRaw | ;

Describe a method for the identitication of primary, secondary and tertiary amines. Also write chemical

equation for the reactions involved. http://www.ukboardonline.com

FU4T (OR)
g vfel= &1 A 3 B uRefda & ? Iarafae wfeeor Wiy fafEe - 1 =3

How would vou convert Aniline into following 7 Write with chemical equation -
() FARIE (@) TgARE~I

Chlorobenezens Tluorobenzene

(@) TEEAE TAT IFTATAS VAIAT 3 BT TH--U@ Jarexdl S | |
Give onc example cach of essential and non-essential amino acids.
(@) DNA JduT RNA ¥ &1 =< g1 8 7
What is the difference between DNA and RNA?

[ 4]

-

(@) uerm wife @ siffrar & Ry wwefda 1 wiewo @) gkt ST |
Derive the integrated raie equation for first order reaction.

(@) v vod ®ife afdfeur &1 97 ReRids 2.31 x 10 *sec' 8 1 59 AMAHIT & srganyg 971
DAY | 2

A first order reaction has arate constant 2.31 x 107 sec *. Calculate the half-life of the reaction.

HY4T (OR)

430 (IBA) (5] [PT.O.

http://www.ukboardonline.com

wod duluopIeOo@ N Mmm//:diy



wod duluopIeo@ N Mmm//:diy

http://www.ukboardonline.com

WpHY T T JMaRes WA T gar 'id § ? wee Pifoe R weawr 9ag o dife
®l IR 8 7 3

What are transition elements and ioner transition clements ? Clarify that why transition elements form coloured

compountds.

25. @ g & Srafe yrufe, fedus, gdnre vewrere - 1Va=1%2 =3
What happens when primary. secondary and tertiary alcohols are —

(@) srea greRray axiTee ferga & wam § sl B om #)
Oxidised using acidificd potassium permanganate solution.

(@) 573K W T B9z W garkd faa I &)
Passed over heated copper al 573 K.

2. wrRif®, fgdfae @ qadae WiEl @ ugae it [y @1 adq #fon | g9 siffeani @
e T ft farfda | 3
Describe a method for the identification of primary, secondary and tertiary amines. Also write chemical
equation for the reactions involved.

AT (OR)
s e @ e @9 oftallda a9 ? warefie wheso afeg fee - 1wv-3
How would vou convert Aniline into following, ? Write with chemical cquation —
(®) FARIIA (@) TR
Chlorobenzene Fluorobenzenc
27, (@) 3TETAPD Tl IFES A 3T FT TF-TF SRR AR | [
Give one example cach of essential and non-esscntial amino acids.
(@) DNA T RNA H @®ar 3R 8y & 7 2
What is the difference between DNA and RNA ?
28. (@) v @il @ afafbur & fag wrefaa 3 wiewer @ gy @ 3
Derive the integrated rate equation for first order reaction.
(@) T@ wuE B AT 9 a1 Rerfas 2.31 % 10 *sec' & | 337 A o ardany sma
HIY | 2
A tirst order reaction has a rate constant 2.31 < 10 ¥ sec *. Calculate the hall-life of the reaction.
AA4GT (OR)
430 (IBA) [ 5] | P.T.O.
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() <fdbaor ol 69 wea € ? 5 s o1 3 Rerie fva wor afbawr sori 9

Fiad #ar § 7 3
Whatisactivation energy 7 How is the rate constant of a reaction related to activation encrgy ?
(@) fafe & anfeawar g sffsm Y #fc ¥ FT SR & 2 2
What is ditference between molecularity of reaction and order of reaction ?
29 (@) 34 <1 RYD AG & A gaET 9@ @99 Qe o € 7 1
Name two poisonous gases which can be prepared from Chlorine gas.
() @i 18 & dedl Bl e AW S AW F T T o @ ? Sferm, FiE qur sitfg
P UH—UP SYAT qd137 | 2
Why are the clements of group 18 known as noble gases ? Give one use of each Helium. Neon and
Arpon.
(M) S0, f&u gPR W e 9g ugEE & 7 W S | 2
How is 50, an air pollutant ? Clarity.
AYAT (OR)
wHs (Fare) Al grr aergRa sva @ fwior o1 wfes oof= difse | dafeg afafbunad
@& wAHRor |t T | 5
Desceribe the manufacture of Sulphuric acid by Contact Process with labelled diagram. Give equation of
related reactions also.
30, (@) Frdifeafes el @ tedaR @ frafafer o wwsngd | 3
I'xplain the mechanism of esterification of carboxylic acids.
(@) fr=1 sa afwfhanet &) waefe ey afa ferfar — 2
Write the following name reactions with chemical equations —
(i) B ARt sfwigsan (i) EehIare Sifeiwat sifferar
Camnizzaro reaction Hell-Volhard-Zelinsky reaction
34T (OR)
e drfqe e @ @iaE ¥F, CH,0,) B T3 Aeage 3= & |1y siasdfed
H B IWIT UH SEIRIAE 306 @ T T QEPIEE T uer g€ 0 B Hiie
I @ T SifeRitarT BV W W S BT B 1 Asteliever woege-1-4¢ Far 81
sitafarert Hmeﬁjﬁﬁwﬁwr&ﬁ‘ﬁﬁﬂﬁaﬂvﬁaﬁ%ﬁ@mmﬂ ‘&, W AR TP
ggard I | 5
Anorganic compound (A) (molecular formula CH, O,) was hydrolysed with dilute sulphuric acid to give
acarboxylic acid (13) and an alcohol (C). Oxidation of (C) with chromic acid produced (B).{C) on dehydration
pives but-T-ene. Write equations for the reactions involved und identify (A). (B)
and (C).
p——
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